



Example 1:  

$$\sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n} \qquad b_n = \frac{1}{n} \qquad \lim_{n \to \infty} \frac{1}{n} = 0$$
consider  $f(x) = \frac{1}{x}$   
 $f'(x) = \frac{-1}{x^2} \qquad f'(x) < 0$  for all positive  $x \quad \Rightarrow \{b_n\}$  is decreasing  

$$\sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n}$$
 is **convergent** by the Alternating Series Test  
The Alternating Harmonic Series converges.  

$$\sum_{n=1}^{\infty} \frac{(-1)^{n+1}n^2}{n^2 + 5} \qquad b_n = \frac{n^2}{n^2 + 5} \qquad \lim_{n \to \infty} \frac{n^2}{n^2 + 5} = 1 \qquad \text{the Alternating Series Test Does not apply}$$

$$\lim_{n \to \infty} a_n = \lim_{n \to \infty} \frac{(-1)^{n+1}n^2}{n^2 + 5} = \lim_{n \to \infty} (-1)^{n+1} \cdot \lim_{n \to \infty} \frac{n^2}{n^2 + 5} = \lim_{n \to \infty} (-1)^{n+1} \cdot 1 \Rightarrow \text{The limit does not exist.}$$
The series **diverges** by the Test For Divergence, since does not exist.

$$\sum_{n=1}^{\infty} \frac{(-1)^{n-1} \ln n}{n} \qquad b_n = \frac{\ln n}{n}$$

$$\lim_{n \to \infty} b_n = \lim_{n \to \infty} \frac{\ln n}{n} = \frac{\int_{-\infty}^{\infty}}{\int_{-\infty}^{\infty}} \text{ Indeterminate form } \Rightarrow \text{ Use L'Hopistals Rule}$$

$$\frac{\int_{-\infty}^{L'H} \lim_{n \to \infty} \frac{\ln n}{1} = 0$$

$$\text{consider } f(x) = \frac{\ln x}{x}$$

$$f'(x) = \frac{x \cdot \frac{1}{x} - \ln x}{x^2} = \frac{1 - \ln x}{x^2}$$

$$f'(x) \text{ will be negative when } 1 - \ln x < 0 \Rightarrow \ln x > 1$$

$$e^{\ln x} > e^{1}$$

$$\{b_n\} \text{ is decreasing for } n > 2$$

$$\sum_{n=1}^{\infty} \frac{(-1)^{n-1} \ln n}{n} \text{ is convergent by the Alternating Series Test}$$







Determine whether the series is absolutely convergent,  
conditionally convergent, or divergent.  
i) 
$$\sum_{n=1}^{\infty} \frac{\cos(n\pi)}{\sqrt{n^3}}$$
  
 $\sum_{n=1}^{\infty} |a_n| = \sum_{n=1}^{\infty} \frac{1}{\sqrt{n^3}} = \sum_{n=1}^{\infty} \frac{1}{n^{3/2}}$   
convergent  $p$  - series  
  
 $\implies \sum_{n=1}^{\infty} \frac{\cos(n\pi)}{\sqrt{n^3}}$  is  
absolutely convergent  
 $p = \sec(n\pi)$   
 $\implies \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{\sqrt{n^3}}$  use  $A.S.T.$ :  
 $b_n = \frac{1}{\sqrt{n}}$  is decreasing,  
and  $\lim_{n \to \infty} b_n = 0$   
convergent by  $A.S.T$ .  
 $\implies \sum_{n=1}^{\infty} \frac{(-4)^{n+1}}{3^n}$  does not exist  
 $\lim_{n \to \infty} \frac{(-4)^{n+1}}{3^n}$  does not exist  
 $\lim_{n \to \infty} \frac{(-4)^{n+1}}{3^n} = -\infty$ , for  $n$  even  
 $\lim_{n \to \infty} \frac{(-4)^{n+1}}{3^n}$  is  
conditionally convergent